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QUESTION 1

What are two valid iSCSI discovery methods? (Choose two.)
A. Assigned Discovery

B. Automatic Discovery

C. Static Discovery

D. LUN Masking

E. Dynamic Discovery

Correct Answer: CE

https://docs.vmware.com/en/VMware-vSphere/6.5/com.vmware.vsphere.storage.doc/GUID-
66215AF32D81-4D1F-92D4-B9623FC1CBOE.html

QUESTION 2

ESXi supports which three iSCSI adapters? (Choose three.)
A. Software

B. Protocol Endpoint

C. FCoE

D. Dependent Hardware

E. Independent Hardware

Correct Answer: ADE

QUESTION 3

A virtual machine loses network connectivity after vMotion. Which two troubleshooting tasks can be performed?

(Choose two.)

A. Verify virtual switch option Notify Switches is set to Yes.

B. Ensure that Enhanced vMotion Compatibility has been configured.
C. Change the teaming policy to active/standby mode.

D. Ensure that the virtual machine is in the proper VLAN ID.

Correct Answer: AD
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QUESTION 4

Immediately after installing ESXi, an administrator observes that the Configure Lockdown Mode option is
grayed out in the Direct Console User Interface (DCUI).

What is the most likely explanation?

A. The host has not yet been added to a vCenter Server.

B. The BIOS on the host does not have NX/XD enabled.

C. The ESXi host is running in evaluation mode.

D. The host requires a reboot before this feature is available.

Correct Answer: A

QUESTION 5

A VMware vSphere Administrator is tasked with enabling Fault Tolerance (FT) on a VM but is unable to. What is the
reason that FT cannot be enabled?

A. The VM has a VMDK that is greater than 2TB.

B. The VM is configured to use Jumbo Frames.

C. The VM has 4 vCPU.

D. The VM is running an operating system that is more than 4 years old.

Correct Answer: C

Enabling fault tolerance on a virtual machine with more that 1 vCPU using the vSphere Client fails.
You see the error:

"The Virtual Machine has x virtual CPUs and is not supported for Fault Tolerance”
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